Efficiency vs Dxy(PV)
0.5

o [

efficiency vs dxy(PV)

o
S N 9O w 2 »

0.

"=25-20-15-10 -5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_TT__mkFit-DQM_original

—— /data2/legianni/standalone-May24/CMSSW_13_2_X_2023-06-05-1100/sr¢/DQM_TT__mkFit-DQM_mod_upfatedmod-127

—— DQM_TT__mkFit-DQM_update-mod127

I Efficienc| —— DQM_TT__mkFit-DQM_127-updatemod127

< 0.5

efficiency vs dxy(PV,
=3 [
e

o
-

0.95)

%1 05006

Efficiency vs Dz(PV)
0.5

efficiency vs dz(PV)
o o

o
S N O w 2 »

0.1!

30 =20 -10 ©0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)
0.5

o

efficiency vs dz(PV)

o ¢
N © w 9 »

o

Ratio

.5 1
TP dz(PV) (cm)



	Contents
	Page 1


